Proofs Chapter 2
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Given: AB=CD
Prove: AC=BD

Given: AC = BD
Prove : AB=CD

X2=X3
Prove: XACD = XFDC

4 a) same picture

L. Ll
T
A B C D
2 A B C
L |
1 |
3.
4,
A
C
1 3
2
(@]

Given: X1= X2

Prove : £LAOC = XBOD

BO bisects £XAOC

A3=X2
Prove : 1= X2
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6 a) Same picture
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Given: X1= X3
Prove: X2= X3

Given: X1= X2
Prove: £3= X4

Given: AD bisects £XBAC
Prove: X1= X2

Given: X1= X3
Prove: £2= X4

Given: £ABD = XCBD
Prove: X3= X4




8a) Same picture as 8.

Given: BD bisects XXBY
Prove: XABD = XCBD

9. zlA B C D Given: AC = BD
| Prove: AB=CD

9a) Same picture —_—
Given: AB=CD

Prove: R = ﬁ

9 b). Same Picture

Given: C is midpoint of BD
AB=CD

Prove: B is midpoint of AC




